Lesson 7.2: General Form of a Linear Equation Unit 7: Equations and Graphs of Linear Relations

Check Up

1. Use the x- and y-intercepts to sketch the graph of 5x —4y—40 = 0.
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Unit 7: Equations and Graphs of Linear Relations Lesson 7.2: General Form of a Linear Equation

; Compare your answer.

1. Use the x- and y-intercepts to sketch the graph of 5x —4y—40 = 0.

Determine the x-intercept by substituting 0 for y.

Sx—4y—40=0
5x—4(0)—40=0

5x—40=0
5x— 40 + 40 = 0+ 40
5x = 40
Sx _ 40
g 5
x=8

Determine the y-intercept by substituting 0 for x.

S5x—4y—40=0
5(0)—4y—40=0

—4y—40=0
—4y— 40 + 40 = 0+ 40
—4y =40
—4y _ 40
—4 —4
y=—10

Use the points (8,0) and (0, — 10) to sketch the graph of 5x — 4y — 40 = 0.

N sx-4y-40-0
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